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Exam Problem 1 computethelineintegral
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What I did wrong In thiscase Ijustcompletelyforgot about potentialfunctions
Itried touse the other directmethods but tookupallmytimebecauseit
was toohard In the future having apaper withall theformulas infrontofme
willhelpme bemoreprepared forquestions likethese



Problem la compute the line integral
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Problem lb compute theline integral
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Problem 2 Bychanging theorder ofintegration ifnecessary evaluatethedouble
integral
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I didnotgetthis qcestion wrong



Problem 2A change theorder ofintegration
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Problem 2b change theorder ofintegration
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Exam Problem 3 find theequation ofthe tangent plane atthepoint 1,111
tothe surface given parametrically by
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Problem 3a Findthe equation ofthetangent plane atthepoint 1,214 to
the surface given parametrically by
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Problem Bb Findtheequation ofthetangent plane atthepoint 11 1,2 to
the surface given parametrically by
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Exam Problem4 Letf x y z eWSH sinXYZ cosXZ and let
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Forthis question I failed torealize itinvolved thefundamental theoremof
line integrals I tried to solve itdirectlyandended nowhere In thefutureIshould
bemore organized abouthow I prepare necessary formulas identities etc
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ExamProblem 5 Evaluate thetripleintegral
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Problem Sa Evaluate thetripleintegral
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Problem Sb fµ 2 x't112122 dxdydz
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Exam Problem 6
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Problem bai Convert topolar coordinates donotevaluate
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Problem Gc
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ExamProblem 7 Decide whether thefollowing limitexists If itdoesfindthem
ifnot explain why
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I got a band c correct on the exam butnot d because I ranoutof time
In thefuture Ineed to organizetheorder inwhich I willanswerquestions
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Exam Problem 8
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I got this question wrongon theexam I started off correctly and
I hadthe rightidea the whole way through but instead of
multiplying by Hr'tH I multiplied by r.lt If I hadbeenmore
careful I couldhavegotten the 10points



Problem 8A Compute theline integral Icf ds where
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Exam Problem 9
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This isvery long willuse mapleinstead
69

I did notdo this problem onthe exam When I first readit I did
notknowwhere tostart or whatformulastouse Morepractice onmyowntime
wouldhave helpedme ontheexam
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Exam Problem 10 Find the POINT on theplane xt2yt32 18 wherethe
function fix y t Xyz isas large aspossible

Weneedto uselagrange multipliers
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I got this question wrong because I did notfinish I had

a good start andreciered some credit but I needed to pace
myself better tofinish this exam



Problem 109
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Using maple ye4zi.ro
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